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7+ 8 =15, 15 x 59 = 885,
885 — 57 = 828, 828 + 46 = 18

@ {7+ (8x59)-57}+46 = 18
@{(7+8)x59—57}+46:18
@ {7+8x (59 -57)} +46 = 18
@ 7+{8%x(59-57)}+46 =18

® 7+8x{(59—57)+46} = 18
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513 —21 =492, 492+ 6 = 82
@ 513 -(21+6) =82 @ 513-21+6 =82
® (513-21+6) =82 @ (513+6)-21 =82
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821 - 29 = 792, 792 +12 =66

D 821-29+12 =66 @ 821 -(29=+12) =66
@(821—29)+12:66 @ (821 - 29 = 12) = 66
® (821 +12)—29 =66
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50 -3x6+487+3 =311

@ 3x6 ® 6+ 87

® 3x6+87

(50-3)x6+87+3=47x6+29 =282+ 29 =311
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® 9+2 @ 61x(9-2)
@61x(9+2) @ (61x61)+(9+2)

® (61+9)x(61+2)
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61x9+61x2=>549 4+ 122 = 671 44t

@9+2=11
@61x(9-2)=61x7=427
®61x(9+2)=61x11=6T71

@ (61 x61) + (9+2) =3721 + 11 = 3732
® (61 +9) x (61 +2) = 70 X 63 = 4410
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@® (10+2+3)-4+5 @ 10+ (243)-4+5
® (10+2)+3-4+5 @10+2+3—(4+5)

® 104+ (2+3-4)+5
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@ (10+2+3)-4+5=16
@10+ (2+3)-4+5=16
®(104+2)+3-4+5=16
@®10+2+3-(4+5)=15-9=6
®10+(2+3-4)+5=16
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@ 48+-2x%6 @ 48x6=+2 @ 6x48 =2
@48+(2><6) ® 48 % (6+2)
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D48 +2x6=24%x6=144
@ 48%x6+2=288+2 =144
@ 6x4+2=288+2=144
@48+ (2%x6)=48+12=4
® 48 x (6+2) =48 x 3 = 144
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@54><9—18+3 @ 54+ (18-9)x3
® 3x54+6-18 @ 54x3+(18-9)

® 3x(54+6)-18
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D54x9-18+3=1486-6 =480

@54+ (18-9)x3=54+9x3=6x3=18
@®3x54+6-18=162+6-18=27-18=9
@ 54x3+(18-9)=162+9=18
®3x(54+6)-18=3x9-18=27-18=9




